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Question No. 1

SolFgiell T ag NTUHAA FEAT, ST aeddH FET H @ @HFd 8, o
A) 8 B) 2
C) 4 D) 6

The maximum number of electrons that can be accommodated in the outermost orbit is-

A) 8 B) 2
C) 4 D) 6
Answer Key : A Your Response : A (Correct)

Question No. 2

SSHIT FAT 3cUeed el & [T FeITT Sier arer Ueral Y a7 el Srdar 872
A) ST gerd B) St

C) & D) 3

What is the name given to the materials which are burnt to produce heat energy?

A) Biomaterials B) Fuels
C) Chemicals D) Gases
Answer Key : B Your Response : B (Correct)

Question No. 3

T o1 4RT $1 fGem & v WRad gl 1 4 6 F 7 T 8, offeher e3ndr &g 9 et # 6
" I AT ol §1 URT T =Tl 3R AT STl H AT T =TT T 3Tl FAT 872




A boat covers a certain distance downstream in 4 hours, but takes 6 hours to return to the
starting point. What is the ratio of speed of stream to the speed of the boat in still water?

A) 5:1 B) 4:3
C) 1:4 D) 1:5
Answer Key : D Your Response : A (Wrong)

Question No. 4

fArAfaf@d Aofr 7 sequieyd g a9 fifsw|

35, 46, 59, 74, (..), 110
A) 81 B) 83

C) 91 D) 87

Find the missing number in the following series.

35, 46, 59, 74, (...), 110

A) 81 B) 83
C) 91 D) 87
Answer Key : C Your Response : C (Correct)

QOuestion No. 5

gfe '+ 3R - FT UE FH seo fear ST 3R TEai 8 iR 6 & T off sea few v, ar
fArafaf@a & ¥ 3T a1 Aeeq T@@r gem?

A 6-8-8+8=0 B) 12+ 8-6=2

C)12+6-8=10 D) 6-4+8-8=6



If '+' and '-' are interchanged and also the numbers 8 and 6 change places, which of the
following options is correct?

A) 6-8-8+8=0 B) 12+8-6=2
C) 12+6-8=10 D) 6-4+8-8=6
Answer Key : C Your Response : C (Correct)

Question No. 6

IRDP &T T0Teifaer 32T &1 §7

A) FY 3cUEHdr H G T & AT HEeTs B) AUSHINT &HH Helr|
HEINRT UGTeT el

C) wWiey 3MYfd Fe= & faT D) grHior Ao & v 3R @& Yemt
el 3 RIS AT T HOT Frawm vereT
Y|

What is the strategic aim of IRDP?

A) To provide the required input for increasing B) To reduce unemployment

agricultural productivity

C) To increase the food supply D) To provide more opportunities for rural
employment and credit facilies at
concessional rate of interest

Answer Key : D Your Response : D (Correct)

Question No. 7

T fHFgeies ardiaRor & #ia] gle Tl Ueh Selfaed Heged-siiaid s g
A) TaSd aEdfashdr B) HHH e
C) setaie 3w ey D) M areafaerar

is an interactive computer-generated experience taking place within a simulated

environment.



A) Augmented reality B) Atrtificial intelligence
C) Internet of things D) Virtual reality

Answer Key : D Your Response : B (Wrong)

Question No. 8

wmmﬁrmoéﬁmoﬁaﬂalaﬁmﬁﬁzoaggq%,a’rzs%mawa:m
AY HRT &I Foh Hed IT =1 ST AFT?

A) %.1.50 B) %.1.20

C) %.1 D) %.1.25

A fruit seller purchased 100 oranges for Rs.80. If 20 of them are rotten, then at what price
should he sell the rest of the oranges to have 25% profit per orange?

A) Rs.1.50 B) Rs.1.20
C) Rs.1 D) Rs.1.25
Answer Key : D Your Response : C (Wrong)

Question No. 9

300 #HeT e YIMST Teh Tolchid i 39 Uhs H IR ldl § Sidih IJg T T@H & 18 g H
IR Xl &1 Tehid Hl ddrs et &7

A) 680 HieX B) 320 HexX
C) 350 #rex D) 650 #ex

A 300 m long train crosses a platform in 39 seconds while it crosses a single pole in 18
seconds. What is the length of the platform?

A) 680m B) 320 m
C) 350 m D) 650 m
Answer Key : C Your Response : C (Correct)

Question No. 10




g8 BT ¥ BIE H&AT AT FHifoiw o 231228 # Siisa W Wied H&AT 33 ¥ quia: fasnfard &l
A) 3 B) 2

C) 4 D) 1

Find the least number to be added to 231228 to make it exactly divisible by 33.

A) 3 B) 2
C) 4 D) 1
Answer Key : A Your Response : A (Correct)

Question No. 11

aTell &1 3T % SHROT BT &
A) uftea B) I
C) Holfae D) awrfeeT

The colour of the hair is due to-

A) Peptin B) Carotene
C) Melanin D) Keratin
Answer Key : C Your Response : D (Wrong)

Question No. 12

30 THeT & I3 H, AT HHE H 9T ®EdS (7) & TT W™
e % T wafeasm 39+ &1l

7
) 27
8 4
. 19
2 7 5
17 . 44
o

A) B)



i
W

®)

D)

7
L2

Choose the alternative that best replaces the question mark(?) in the

given figure.

>
~—

[
Jx

&)

Answer Key : A

sin 15° /T AT AT hiT=AT]

27
4
19
5
44
B)
58
D) 52

Your Response : Not Answered

Question No. 13




A) B)

=
.
@
4

Hea '

C) D)

%
i
5

it
|

Find the value of sin 15°.

A) B)
B3
3 - 2
- \"’_ -\/—
0 D)
N fo+2
2 4
Answer Key : A Your Response : Not Answered

Question No. 14

1930 # HEIcAT el & AFg SIS AT FT IS fHaAT)

A) HEE H GHA B) HPIEIRI® JTSHR

C) #H® W HT o SAled D) RSl W IR




Mahatma Gandhi organized 'Dandi March' in 1930 against the-
B) Communal Award

A) Repression of the Congress
D) Atrocities on Harijans

C) Imposition of tax on salt
Your Response : C (Correct)

Answer Key : C
Question No. 15

few 1T Reredl & & 3Td @ oA

A) 188 B) 199
C) 122 D) 100
Find the ODD one out from the given options.
A) 188 B) 199
C) 122 D) 100
Your Response : D (Wrong)

Answer Key : B
Question No. 16

1.3
2= .1=
T T
=
o .341
3
A) B)
38/109 33/109
€) D)
1

109/38



1 2
73714
Simplify: 7 1
3+
1

3+ -

1
3
A) B)
38/10¢9 33/109
&) D)
1059/38 1
Answer Key : A Your Response : Not Answered

Question No. 17

Teh HEHT H, 24631 &l IJTAYG 'GREAT' & § 3R 5897 or AU 'MONK' & g1 3T Hesmsm
H T&IT 84712 1 AU FAT gam?

A) ORKTG B) OGRTK

C) ORATG D) OGKAE

In a code language, 24631 stands for 'GREAT' and 5897 stands for 'MONK'. What does the
number 84712 stand for in the same code language?

A) ORKTG B) OGRTK
C) ORATG D) OGKAE
Answer Key : A Your Response : A (Correct)

Question No. 18




Aoh & ot Py

86, 67, 49, 33, 20, (..
A) 13 B) 7

C) 9 D) 11

Complete the series.

86, 67, 49, 33, 20, (...)

A) 13 B) 7
C) 9 D) 11
Answer Key : D Your Response : D (Correct)

Question No. 19

USEIFelTdel AT &7
A) faefaa B) oer
C) vl e D) il uerey

What is riboflavin?

A) Vitamin B) Plant
C) Antibiotic D) Colouring substance
Answer Key : A Your Response : A (Correct)

Question No. 20

FOeT NfTaT Fr fhTedr ST ATAT ATAT 87
A) ot B) Shrarfewehr
C) ®fAs A D) geffetor faare




Carolus Linnaeus is regarded as the father of -

A) Embryology B) Palaeontology
C) Evolution D) Taxonomy
Answer Key : D Your Response : D (Correct)

Question No. 21

T O gafda forg =afea & "gzael taaua” i &gl Sar g7
A) K.M. Siardrer B) P.T. 3w

C) SaIfaadT ReeR D) eMSsil 3TsgH

Which sports personality is also known as the 'Payyoli Express?'

A) K.M. Beenamol B) P.T. Usha
C) Jyotirmoyee Sikdar D) Shiny Abraham
Answer Key : B Your Response : C (Wrong)

Question No. 22

AR H AT 3AS gfaeafa & Vo & T g 31X Sart &1 5T @R @ g Jan
7

A) &R B) ura
C) eafd avw D) 3Reelt

With what material are the roofs and walls covered to avoid undesirable excessive

reverberation in auditorium?

A) Hard B) Translucent
C) Sound-absorbent D) Opaque
Answer Key : C Your Response : C (Correct)

Question No. 23




AT 2019 # TR o fhd d # 205 HUs T0F AT Yol o@lg 572
A) e dF B) s 3% HENIST
C) USE #AUTel S D) uigad s&

Government has infused a capital of Rs.205 crore into which bank in March 2019?

A) Union Bank B) Bank of Maharashtra
C) Punjab National Bank D) Axis Bank
Answer Key : B Your Response : D (Wrong)

Question No. 24

frafaf@a # ¥ &l @1 d9fid aegad wafa 1 asft Gemsd & $home fSar Fdr v fgar &
Aol & forw feessr forar srar g7

A) arafere B) frer
C) Hars D) e

S

Which of the following musical instruments is designed to send sound in a particular direction
without spreading it in all directions?

A) Violin B) Guitar
C) Keyboard D) Trumpet
Answer Key : D Your Response : D (Correct)

Question No. 25

sin 480° - gin 60° + sin TR0° + cos 120° T AT FT HTAT|

A) B)



®) D)

nﬁ+1

Find the value of sin 480° - sin 60° + sin T80° + cos 120°.

A) B)
3-1
! 5
&) D)
0 \;'E +1
2
Answer Key : B Your Response : C (Wrong)

Question No. 26

I & TIY-TTY SR 7 34T & &7 H eiaiad & ¥ frger 3uaer fFar Sar g2
A) T B) Uddrel
C) sged D) 3T

o




Which of the following is used as a fuel in cars along with petrol?

A) Methane B) Ethanol
C) Butane D) Ethane
Answer Key : B Your Response : A (Wrong)

Question No. 27

A0 A qF HT HR 20 FRAT @isfher TS| 20 fRAT Tel & d1g, 9§ U {3 9T, N FT I
ATSfhel T & ST B & S1C 73 a141| 319 a5 T favm & §2

A) 3’ B) ufea#H
C) cfaror D) 9a

Ganesh cycled 20 km towards east. After reaching 20 km, he turned left, and after cycling
some distance again he turned left. In which direction is he facing now?

A) North B) West
C) South D) East
Answer Key : B Your Response : B (Correct)

Question No. 28

Jade o & IRRIT &g § gh IoRa drell Yhrel &I 0T, 39adsl & alg
[CExi

A) #AET BIHE U B) faar forel fawels &
C) AT 38T & FAEIR D) dshdl &g

A ray of light passing through the optical centre of a concave lens emerge after refraction will
be-

A) Through the principal focus B) Without any deviation
C) Parallel to the principal axis D) Through the centre of curvature

Answer Key : B Your Response : C (Wrong)



Question No. 29

& INFHIOT & FRUT HIeAHT AT 3ceoT gl &l
A) AT B) Fefeieh Uere
C) ssgisted D) "o

The carbonaceous demand occurs due to oxidation of-

A) Ammonia B) Organic matter
C) Nitrogen D) Sulphur
Answer Key : B Your Response : B (Correct)

Question No. 30

3rAtferaT, gRAT 7 FEl IRafdd gar g7
A) & B) 3R

B

C) IPpd D) de

Where is ammonia is converted into urea?

A) Kidney B) Pancreas
C) Liver D) Stomach
Answer Key : C Your Response : C (Correct)

Question No. 31

Waﬁrquﬁwﬁaagawa‘waaﬁaamﬂw%l
A) MOM B) GEOSAT

C) ASTROSAT D) SLV

is India's first dedicated multi wavelength space observatory.
A) MOM B) GEOSAT

C) ASTROSAT D) SLV



Answer Key : C Your Response : A (Wrong)

Question No. 32

s # Fega: AeAfafad & @ Fia a1 3Fa Alsg gidar g2

A) fafes 3 B) 3far@Tiels 37d

C) TRER& 31Fel D) ufafes 31Far

Which of the following acids is mainly present in vinegar?

A) Citric acid B) Oxalic acid
C) Tartaric acid D) Acetic acid
Answer Key : D Your Response : D (Correct)

Question No. 33

A) B)

&) D)

a/b, b/a a'b, -ab




a

. . a a’
Find the solution set of [}; E} =—
A) B)
0, -2a'b 0, 2a/b
C) D)
a/b, bla a'b, -ab
Answer Key : B Your Response : Not Answered

Question No. 34

Teh [T e &, 'put ta nop' &1 Y 'fruit is good'; 'nop ko tir' & HY 'tree is tall' IR
'put ho sop' & 37¥ 'eat good food' &1 3¢ FHeH™T # fAraAfaf@a & & foraepr 3 'fruit' gram?

A) 37 3TATCd B) pul

C) ta D) nop

In a certain code language, 'put ta nop' means 'fruit is good', 'nop ko tir' means 'tree is tall' and
'put ho sop' means 'eat good food'. Which of the following means 'fruit' in that language?

A) Data inadequate B) pul
C) ta D) nop
Answer Key : C Your Response : C (Correct)

Question No. 35

sIH O Hid FT 3uRor AT 1 gea a1fa = AT swar §2



A) HT Thel B) dd@AT
C) earadd D) ST #fieT

Which of these devices controls the heart rate of patients?

A) CAT scanner B) Pacemaker
C) Respirator D) ECG machine
Answer Key : B Your Response : B (Correct)

Question No. 36

39 @HTIT & g ST 36 & AOUAEUST § qAT &
A) (2, 3,4, 6,9, 12) B) (2, 3, 4, 6,9)
C) (2, 3,4,6,9, 12, 18) D) (2, 3, 4, 6)

Pick out the set that forms the factors of 36.

A) (2,3,4,6,9,12) B) (2,3,4,6,09)
C) (2,3,4,6,9,12,18) D) (2,3, 4,6)
Answer Key : C Your Response : C (Correct)

Question No. 37

g 4 o1s% 3R 6 asfRal e wrF 1 8 R 7 #X wava §, 3N 3 &% 3k 7 wsfarar, 10
&t 3 58 @ & Foha &1 Toh IS 3N Tk oIgehl T SR &TACT HT ]I AT hIfaT|

A 111 B) 5: 12

C) 11 :1 D) 12: 5

If 4 boys and 6 girls can do a work in 8 days, and 3 boys and 7 girls can finish the same in 10

days, find the ratio of capacities of a boy and a girl.
A) 1:11 B) 5:12

C) 11:1 D) 12:5



Answer Key : C Your Response : Not Answered

Question No. 38

If A T 3w ¥, B A, C a3 ¥ A D T e e g, A
9O9D9C11B21D21=7

A) 50 B) 100

C) 120 D) 48

If 'A' means '+', 'B' means '-', 'C' means 'x' and 'D' means '+', then99D9C11B21D21="7?

A) 50 B) 100
C) 120 D) 48
Answer Key : C Your Response : C (Correct)

Question No. 39

il AT s AT FEU 7T Haer & Helfedd o1 & qOT HM?

Sl @ @ de : ?
A) gfcRier B) @&
C) ol D)QT%H

Which word will best complete the relationship given below?

Joule : Work :: Watt : ?

A) Resistance B) Pressure
C) Force D) Power
Answer Key : D Your Response : D (Correct)

Question No. 40

3/4, 5/8, 7/12, 15/16 &1 3@d AT HfST]



A) 11/32 B) 139/192

C) 21/64 D) 135/64

Find the average of 3/4, 5/8, 7/12, 15/16.

A) 11/32 B) 139/192
C) 21/64 D) 135/64
Answer Key : B Your Response : B (Correct)

Question No. 41

©.2400 T HUT, KOT QTS HT FAMCT W $.3264 S ART SHT T STl 8, aui @l 3afer 3R
SITST & 3Hifher ®T & ST g ATUROT AT T &3 F4T 872

A) 5% B) 18%

C) 6% D) 10%

A loan of Rs.2400 is cleared with an amount of Rs.3264 at the end of the loan period, the
period in years and rate of interest being numerically equal. What is the rate of Simple

Interest?
A) 5% B) 18%
C) 6% D) 10%
Answer Key : C Your Response : C (Correct)
Question No. 42
W Hirae: \/10 +27++/65+ /256

A) B)



=1

0 D)
4 6
Simplify: \/1_0 +4/27+4J65+ /256
A) B)
8 7
0) D)
4 6

Answer Key : C

50 #Hiex AiEr H5F & et RN FAA FAT5 & &l FLAER GU-FAFH g1 SI-FIFH & I g TS W
T fig &, qU-FaFd & MY FT 3eaaer 07 60° 3T 30° g1 S9-Fawer S = AT Hfw]

A) 23.75 #iex
C) 22.50 #Hrex

Your Response : C (Correct)

Question No. 43

B) 21.65 #eX
D) 18.65 HieX



Two vertical lamp-posts of equal height are on either side of a road 50 m wide. At a point on
the road between the lamp-posts, the elevations of the tops of lamp-posts are 60° and 30°.
Find the height of the lamp-post.

A) 23.75m B) 21.65m
C) 22.50 m D) 18.65m
Answer Key : B Your Response : Not Answered

Question No. 44

us eaf ader & mgfed 200 g & 3R FHHR ar §e 2 A ¥ eafw ader & e A
T

A) 400 FHre/AHs B) 200 #HeI/&%s
C) 80 Hrex/a®s D) 100 Hrex/ass

The frequency of a sound wave is 200 Hz and its wavelength is 2 m. What is the speed of the
sound wave?

A) 400 m/s B) 200 m/s
C) 80 m/s D) 100 m/s
Answer Key : A Your Response : A (Correct)

Question No. 45

iy & eJeoq 78 # frafaf@a & @ fraer avier fear awr g2

A) TG PI Tollg TaET TS FAolel T Tscdfad B) TseUfd $r MaTdereled fdFaar
$r erfed

C) Usgufad &7 ARURYG & SETRT AN @ D) TYT #FHAT & PR & haal 3R Afaal &
e IR #H Tegufd # HIed @A F Fded d
-

Which of the following is dealt in Article 78 of the Constitution?

A) B) Emergency powers of the President



President's power to send advisory
messages to the Parliament

C) President's power to get information from D) Prime Minister's duty regarding keeping the
the Council of Ministers President informed about the government's
decisions and policies

Answer Key : D Your Response : D (Correct)

Question No. 46

Arafaf@a SR & eaa F 9¢ 31T AT U 31w v &1 3y S

TS GIEd- AT, Tsf, @1, &her, 36, e, Rar 3 3%or v gfed & 88 §, o a7 ¢ ard
T R IRIET HA H Th F 3G AeX deh drell TS HiAAT el §1 3 T 3ca” foom & 3R Hqg
ferw g 7l

@ AN T BT FEl W Ao 1 Y@ R AT & dra @6 o safea dod §1 e 3R 3T gaen
TH-GEX & 9Tl 7 dod g1 R, A AR Y@r & sore 7 7@ Soar g1 e wel off v dw
arell Fdl R A& Joar &1 s 3R 3T, gt & TR ¥ H FE W AL S g1 W IR TS
% §IT H had Uh & Ifad dodr gl 36, g & g8 3K (VhgH 9T H Adl) dadT g 3R
glrer wefr off T F FOTT H AT Soar gl

ferafai@a & @ &ia, @A Fax arelr 4t ) Jodr §72
A) AT B) 30T

C) Y@r D) 3re

Read the following information carefully and answer the question given below.

Eight friends—Mani, Raju, Rekha, Harish, Abi, Ramu, Shiva and Arun sit in a row having chairs
numbered one to eight in ascending order from left to right. They all are facing north direction.

Rekha sits on the chair numbered six. There are exactly two persons between Rekha and
Mani. Raju and Arun always sit adjacent to each other. Shiva sits adjacent to neither Mani nor
Rekha. Abi never sits on a chair having an odd number on it. Neither Raju nor Arun sits on
chair numbered four. There is only one person between Ramu and Raju. Abi sits on the right



(not an immediate right) of Harish, and Harish never sits adjacent to Ramu.

Who among the following sits on a chair which is having an odd number on it?

A) Mani B) Arun
C) Rekha D) Abi
Answer Key : A Your Response : Not Answered

Question No. 47

$H 9T #, a HYAl & d1g ar Tshy QU av g 37 fAshs() & Io1, St drfhed &G § Faien
39 8l

hod:

1) Toft Aforar sl &

2) & ARTAT Ao ¢

fase:

. ¥ AR 98l g

II. 1 gah 7aIf & &

A) Faer sy Il 39gerd § B) &del fisay | 3Ugerd &

C) a1 & faseny | & Il 3UYeF & D) fshy | 3R Il 39 a8 3ugeFd Bl

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) All fish are birds.



2) Some hens are fish.

Conclusion:
|. Some hens are birds.

lI. No bird is hen.

A) Only conclusion Il follows B) Only conclusion | follows

C) Either conclusion | or Il follows D) Both conclusions | and Il follow
Answer Key : B Your Response : B (Correct)

Question No. 48

AGHAT W IATETST FAT A& Goll ST Hebell?

A) FIIfF dgaAT 9T gl S8 gl B) ToHAT & HIS AgHSH A6t & 3N wafer far
HAIEIH o IATAT oTel HT Tehall

C) TGHT YT HIS 3aTeT A& HIdT| D) IgHAT W SATeT arel T g8 & i &

Why cannot sound be heard on the moon?

A) Because there is no water on the moon B) Moon has no atmosphere and sound cannot

travel without a medium
C) No one makes sound on the moon D) People going to moon become deaf

Answer Key : B Your Response : B (Correct)

Question No. 49

1 aY¥ & T 8% ATYURUT =TT 9T F.16000 &1 f@aer 31w gaT 30 & fOv 18% HTURUT sITST
T GE AT H W, Hel AT T 10% T @17 Ao ghelr g1 fder v 918 FHol TR A A

A) %.20000 B) %.22000

C) %.20500 D) %.18000

An investment of Rs.16000 at 8% Simple Interest for 1 year and a second investment at 18%
Simple Interest for the same period together fetch a return of 10% on the total investment. Find

the total sum invested.



A) Rs.20000 B) Rs.22000

C) Rs.20500 D) Rs.18000

Answer Key : A Your Response : Not Answered

Question No. 50

Aot &I qut fifaw|

2, 3, 6, 13, 28, (.)
A) 59 B) 51

C) 53 D) 55

Complete the series.

2,3,6,13,28, (...)

A) 59 B) 51
C) 53 D) 55
Answer Key : A Your Response : A (Correct)

Question No. 51

e & @ fha AT A "S[sar A" Fgl AT g7
A) gelmEre 3R e B) feelr 3R wiigEg
C) Ha$ 3R qor D) s9Te® 3R A

Which of the following cities are called the 'Twin cities?'

A) Hyderabad and Secunderabad B) Delhi and Faridabad
C) Mumbai and Pune D) Bengaluru and Mysuru
Answer Key : A Your Response : A (Correct)

Question No. 52




U 92 Bl T SIaRl ¥ €afd & TR-9 WIdded I FAT Hgl oIl g, fords IRumATasy eafa &ir
37e7fcT ST BT §?

A) gfd B) f=r
C) are D) ufaeafar

What is the repeated reflection of sound from the walls of a big hall that results in persistence
of sound called?

A) Music B) Pitch
C) Note D) Reverberation
Answer Key : D Your Response : D (Correct)

Question No. 53

P 3R Q # 3itaa 3y 24 a¥ §1 P, Q 3R R # 3 ge 3y 22 ¥ g1 oo a¥ & 3o 31y
T IIET AT ATV

A) 90 B) &eT 3rreiear

C) 95 D) 87

Average age of P and Q is 24 years. Average age of P, Q and R is 22 years. Find the sum of
their ages in last year.

A) 90 B) Data not sufficient
C) 95 D) 87
Answer Key : B Your Response : B (Correct)

Question No. 54

ol 1 ot i

19, 16, 21, 14, (.)

A) 23 B) 27



C) 21 D) 25

Complete the series.

19, 16, 21, 14, (...)

A) 23 B) 27
C) 21 D) 25
Answer Key : A Your Response : A (Correct)

Question No. 55

(- 3t - 4), (2 + 5t - 4), (£ - 1) FT A.F.I9HCF) 7 HifaT]
A) £ -1 B) t+ 1

C) t-1 D) 1

What is the HCF of (t2- 3t - 4), (2 + 5t - 4), (- 1)?

A) t2-1 B) t+1
C) t-1 D) 1
Answer Key : D Your Response : D (Correct)

Question No. 56




A) B)

48 44

9 31 D) 36

How many triangles are there in the given figure?

A) B)
48 44
C D
) 31 ) 36
Answer Key : B Your Response : D (Wrong)

Question No. 57

AT F Fraet v qY Ao @1 ¥2
A) B8 B) IR
C) &rd D) 9

How many single bonds are present in methane?

A) Six B) Four



C) Seven D) Five

Answer Key : B Your Response : B (Correct)

Question No. 58

20 9 MEAS dF U A W THh SR eF H, DI-BIEr MATh e STell Sdr § 31T g
HT TAX 6.75 QAT ¢ J1ar &1 IE ST Fr Bear 12 A & 31 def fr gear 27 §, ar e T
et 1 Bear A g Hifsw

A) 3 T B) 1.5 i
C) 3.5 &ar D) 2.5 §&T

Into a cylindrical tub containing water to a depth of 20 cm, tiny spherical balls are dropped and
the level of water rises by 6.75 cm. If the cylinder has a radius 12 cm and the number of balls
dropped is 27, then find the radius of the ball.

A) 3cm B) 1.5cm
C) 3.5cm D) 2.5cm
Answer Key : A Your Response : Not Answered

Question No. 59

et a¥ qF A 3 & e I A a¥ g AN 3 F A A § " W AN qGqAT 3Y
WTod gt &1 AN ad#A Y AT Hifaw|

A) 21 a¥ B) 15 a¥
C) 18 a¥ D) 24 a¥

Thrice my age three years back subtracted from thrice my age three years hence gives my
age. How old am | now?

A) 21 years B) 15 years
C) 18 years D) 24 years
Answer Key : C Your Response : Not Answered

Question No. 60




AFATITET SITAPRT T €T F U6 3R AT U 71T 92 &1 3cax &

36 F- A, B, C, D, E, F, G 3R H, T JedR AT & °RT 3R g & 3R Hg #h 95 &,
oAfehed ST&T 18T foF 34T T & g C, E & a0 & Y I W daT g1 A 3R G & &IT shad
ar oot 35 §1 A 3R G F F F$ o C & pedw w1l 7€ &1 H, F & g ¥ g TUE |
YoT &1 F, C & fiehead gsidl &gl &1 A, C & aF & ey ¥U1eT W o1 &1 D 30K B, epea#n
ISRt A1Er g1 D, F & 90 & e T X daT g

frafoafaa & & Sl a1 afFa B & o185 311 g F9rd # o7 872
A) A B) C

C) H D) D

Read the following information carefully and answer the question given below.

Eight friends—A, B, C, D, E, F, G and H are sitting around a circular table and are facing the
centre, but not necessarily in the same order. C sits third to the left of E. Only two people sit
between A and G. Neither A nor G is an immediate neighbour of C. H sits second to the right of
F. F is not an immediate neighbour of C. A sits third to the left of C. D and B are not immediate
neighbours. D sits third to the left of F.

Which of the following persons sits to the immediate left of B?

A) A B) C
C) H D) D
Answer Key : C Your Response : Not Answered

Question No. 61

S T STET U1 & ghs I BISIFalReh 3Fel H I@T AT g, N 3w g
gl

A) FE SSIHTFASS B) =ATScreteT




C) gmsarsiT D) 3ifediereT

When a zinc metal piece is placed in hydrochloric acid, gas is evolved.
A) Carbon dioxide B) Nitrogen
C) Hydrogen D) Oxygen

Answer Key : C Your Response : C (Correct)

Question No. 62

3rcer A Yol, TS aent grel &1 & 3qured foham o, efafed # @ 6w o7 # fuq §7?
A) 9RRTe daTe B) afar

C) HERTSE D) HET Year

In which of the following states is Atal Setu bridge located that was recently inaugurated?

A) West Bengal B) Goa
C) Maharashtra D) Madhya Pradesh
Answer Key : B Your Response : D (Wrong)

Question No. 63

FIAT AAGT T T e AT Foigeh AT g T AMT ST ITAT HIh G907 AT 0 Re § FATCA
feram ST wehelr 87

A) HIfIT &%l H OYUT YeF BN Sr § 3 B) EYUT, §HRAT ORI FI0F el &
AN aE HT 99T dgd HF s AT &

C) ©¥U &I QU g ¥ FATA A fhar o D) =¥or &1 diferer wieh e fhar ST Gl ¢
Hercl ¢, Hifh F& AHAIATAT ot el

Can friction be eliminated entirely by polishing surfaces or by using lots of lubricants?

A) Polishing makes friction nil and increases B) Friction occurs that is almost negligible

the moving object's velocity enormously

C) D) Friction can be made zero by polishing



Friction cannot be totally eliminated as there

will be some irregularities

Answer Key : C Your Response : A (Wrong)

Question No. 64

T &L
10 + [20 + (22 x 5) - 5] x 8 - 2

A) 10 B) -16
C) 8 D) 18
Simplify:

10 +[20 + (22 x 5)- 5] x 8 - 2

A) 10 B) -16
C) 8 D) 18
Answer Key : D Your Response : D (Correct)

Question No. 65

50 oflcT Y€ QY drel Teh healk &, 10 oicy gy fAshrorehy 10 efleX 9rell STell Sirar g1 Ife &9
IfeRAT T el IR EIeAT ST &, ol 3Hcd: il AR g8 & g 41 Iard g7

A) 7 :16 B) 61 : 64

C) 9:16 D) 1:4

From a container of 50 litres pure milk, 10 litres is taken out and replaced by 10 litres of water.
If this process is repeated thrice, what is the ratio of water to milk finally?

A) 7:16 B) 61 :64
C) 9:16 D) 1:4
Answer Key : B Your Response : Not Answered

Question No. 66




@ U o # @ 68 genfad iar g7
A) dfEsr(Nervous) o B) 3y

C) #ArEINI(Muscular) dF D) ared(Skeletal) T

Which of the following gets affected due to rickets?

A) Nervous system B) Eyes
C) Muscular system D) Skeletal system
Answer Key : D Your Response : D (Correct)

Question No. 67

Jilcra SiaToT T 3R Hg Feh M dodr gl T dg 39a a1 3R 135° 9 Hsar gl 39 a8 6y
f&arr 1 |HAT T T 82

A) gfgor gfdas B) 3cak aiRaH
C) 3ceR qa D) &f&or qa

Gowtham is facing south and moves forward. He then turns 135° to his left. Which side is he

facing now?
A) South west B) North west
C) North east D) South east
Answer Key : C Your Response : C (Correct)

Question No. 68

P e & & 10 AT F o Tohar &1 4 T &1 a0 & a1g, P &7 o3 &ar ¢ 3R Q 9w
SR @l 9 fell & T HIAT B Il 3eglel YV & Ueh Y e Fhar gielr, of HT QI i A
3o¢ fohdel f&eT oer gid?

A) 6 feaT B) 9 fe&=
C) 8 feet D) 7 &




P can do a piece of work in 10 days. After working for 4 days, P leaves and Q finishes the
remaining work in 9 days. If they had worked together from the beginning, then how many days

would they take to complete the work?

A) 6 days B) 9 days
C) 8 days D) 7 days
Answer Key : A Your Response : Not Answered

Question No. 69

fFafaf@a & ¥ 3i9 ar v 9 78 &2
A) FAT Tl B) =&
C) &G D) diger

Which of the following is NOT a tree?

A) Money Plant B) Neem
C) Banyan D) Peepal
Answer Key : A Your Response : A (Correct)

Question No. 70

frafofaa & & Fia O S SaeaR faarf@s 'C’ Fr FAr F gidr 87
A) ¢ Hr @I B) aifsamara
C) 2adel IIaT D) Thal

Which of the following diseases is mostly caused by the deficiency of Vitamin 'C'?

A) Kidney malfunction B) Rheumatism
C) Respiratory disease D) Scurvy
Answer Key : D Your Response : D (Correct)

Question No. 71




Juig(thrust) &I S| ATTS FAT 872

A) g #eT N m

C) Uirshd Pa

B) =gga 9 #eX N / m

D) =get N

What is the Sl unit of thrust?

A) Newton metre N m

C) Pascal Pa

Answer Key : D

A)

8/9

0

8/9%

B) Newton per metre N/ m

D) Newton N

Your Response : B (Wrong)

Question No. 72

T OB 71 H=T]

B)

D)

Find the product of [1-

A)

FoaN o 4 N
1 x[l-g‘xj-ax _____ x[1_§
g, \ 9, ' 9, 9

B)



1 2 9
&/9 1- §+§+ -+§ |
C) D)
8/9¢® 0
Answer Key : D Your Response : B (Wrong)

Question No. 73

Prfarad # & N a1 SR 32
A) s B) 3
C) e D) e

Which of the following is diatomic?

A) Helium B) Argon
C) Methane D) Fluorine
Answer Key : D Your Response : D (Correct)

Question No. 74

faega amT T Tk Hdd AR §e AT FAT Fgerdr g?
A) faega aRuy B) o

N

C) A D) AT

What is a continuous and closed path of an electric current called?

A) Electric circuit B) Loop



C) Mesh

Answer Key : A

feT 17 fqevedl & & & @ YA

D) Path

Your Response : B (Wrong)

Question No. 75

A) 83 B) 21
C) 39 D) 51
Find the ODD one out from the given options.

A) 83 B) 21
C) 39 D) 51

Answer Key : A

Your Response : A (Correct)

Question No. 76

31 aTeT HT fATor AT X fRam a3 )
A) PO B) drcdr
C) Merady D) #¥er

Ukai Dam was constructed across the river

A) Krishna

C) Godavari

Answer Key : B

SAH U hieT AT Teh dTaehT hITAHT 52
A) NI
C) =Arfe+

B) Tapti
D) Narmada

Your Response : Not Answered

Question No. 77




Which of these is a nerve cell?

A) Orion B) Beon
C) Nucleus D) Neuron
Answer Key : D Your Response : D (Correct)

Question No. 78

'k' & e AT & folw FAIOr kx(x - 2) + 6 = 0 & Hel FAW §7?
A) 6 B) -2

C) 3, 2 D) 0, 6

For what values of 'k' does the equation kx(x - 2) + 6 = 0 have equal roots?

A) 6 B) -2
C) 3,2 D) 0,6
Answer Key : A Your Response : Not Answered

Question No. 79

fAfai@d Aoy F 3qURyd HeR-THg AT HIfC]

EZ, JU, (.), TK, YF
A) OP B) FH

C) IK D) SX

Find the missing group of alphabets in the following series.

EZ, JU, (...), TK, YF
A) OP B) FH

C) IK D) SX



Answer Key : A Your Response : A (Correct)

Question No. 80

Aol & ot Py

ABP, CDQ, EFR, (..)
A) HGS B) GHR

C) GHT D) GHS

Complete the series.

ABP, CDQ, EFR, (...)

A) HGS B). GHR
C) GHT D) GHS
Answer Key : D Your Response : D (Correct)

Question No. 81

gfg 480 &T 75% + 540 T x% = 603 &, a 'X' &l AT AT HToC|
A) 35 B) 65

C) 45 D) 55

If 75% of 480 + x% of 540 = 603, then find the value of 'x'.

A) 35 B) 65
C) 45 D) 55
Answer Key : C Your Response : C (Correct)

Question No. 82

& ufsar foew o O @afaa 872
A) HereheTell B) ¢faw



C) pesitel D) gl

With which sport is Laxmi Padiya associated?

A) Boxing B) Tennis
C) Football D) Hockey
Answer Key : A Your Response : C (Wrong)

Question No. 83

24 oY foRdl S #T TH fgT A 8 °e FH Fh 10 T A Q@ R Fhd &1 vh foT #F 10 "
1A e, Y @A 6 AT H QU A & AT kel qosi HI 3Maegeharr gian?

A) 34 B) 36

C) 32 D) 30

24 men working 8 hours a day can finish a work in 10 days. Working 10 hours a day, how many
men are required to finish the work in 6 days?

A) 34 B) 36
C) 32 D) 30
Answer Key : C Your Response : C (Correct)

Question No. 84

SAH § PHid § ARAT T HAAl THE T TTHAT A8l [haAT?
A) FRRS TS B) drdr Rig
C) TGATR D) =Ror &g

Which of these Indian Prime Ministers did NOT face the parliament?
A) Morarji Desai B) V.P. Singh
C) Chandrasekhar D) Charan Singh

Answer Key : D Your Response : C (Wrong)



Question No. 85

3 AT & 94 &, A AEaenda SO & @i & ouEw @
Hﬁhﬁm@ﬁrﬁﬁmm

A) B)

C) D)

Choose the figure that best represents the relationship among the
classes given below.
Pencil, Car, Stationery, Vehicle

A) B)

&) D)

Answer Key : B Your Response : B (Correct)



Question No. 86

ey arsueler oesh H 36 IR-arufier ol & quapd FA & fov Frafafad & & fha
afer &1 39T foear Srar 82

A) fagzor B) arsdieror
C) faedest D) "o

Which of the following methods is used to separate the volatile component from its non-volatile

solute?
A) Diffusion B) Evaporation
C) Filtration D) Condensation
Answer Key : B Your Response : B (Correct)

Question No. 87

"Bl HRA & Thd T HT TSI g7
A) TR B) 3ffsar
C) e D) HERTSC

'Dhokla’ is a delicacy of which state of India?

A) Gujarat B) Odisha
C) Karnataka D) Maharashtra
Answer Key : A Your Response : A (Correct)

Question No. 88

Ifg fre gHaqeS & e 5: 4 & U A g, oF GHAGHS F &Fthd 3R 3§ Al &
IUTThel T I AT HIST

A) 41 B) 2: 1

C) 1:2 D) 1:4




If the diagonals of a rhombus are in the ratio 5 : 4, then what is the ratio of the area of the
rhombus to the product of the diagonals?

A) 4:1 B) 2:1
C) 1:2 D) 1:4
Answer Key : C Your Response : C (Correct)

Question No. 89

TdaATel Hr 443 K T TG HySOy4 & T1Y 3 lel W qred gt gl
A) B) s
C) surse D) e

On heating ethanol with concentrated H»SO4 at 443 K gives-

A) Ethane B) Ethene
C) Ethyne D) Methane
Answer Key : B Your Response : A (Wrong)

Question No. 90

36/75, 48/50 3iX 72/30 T H.F.9(HCF) AT AT
A) 144/45 B) 12/75

C) 144/150 D) 12/150

Find the HCF of 36/75, 48/50 and 72/30.

A) 144/45 B) 12/75
C) 144/150 D) 12/150
Answer Key : D Your Response : D (Correct)

Question No. 91

fArafafed & & i @ urg FM F AIAT W R §?



A) FHferras B) 9RT

C) urcfgH D) aifsae

Which of the following metals is liquid at room temperature?

A) Calcium B) Mercury
C) Potassium D) Sodium
Answer Key : B Your Response : B (Correct)

Question No. 92

feT arv medt F & T & g
A) GJL B) MPS

C) ADG D) NQT

Find the ODD one out from the given options.

A) GJL B) MPS
C) ADG D) NQT
Answer Key : A Your Response : A (Correct)

Question No. 93

fAFATITET H & i AT HioATHT F T gIAT &7
A) ard B) &d

C) TelTeH D) fea

Which of the following is made of calcium?
A) Teeth B) Blood

C) Plasma D) Bile

Answer Key : A Your Response : A (Correct)



Question No. 94

ferafaf@d & & sl ar & Qe v dayr A gafedd® dor § qot HEm?

ZYX : PQR : XYZ : ?
A) RQP B) QRP

C) YZX D) PRQ

Which of the following will best complete the relationship given below?

ZYX:PQR :: XYZ:?

A) RQP B) QRP
C) YZX D) PRQ
Answer Key : A Your Response : A (Correct)

Question No. 95

Th ag—daquﬂT # 'INDIGENCE' &I 'DNIEGIECN' for@r Jrar %I 3497 Elg_c."aqTqT H 'INDIRECTS' &
g yeR fo@r Jmeem?

A) DNIERISTC B) DNIESIRTC

C) DNIIRESTC D) DNREIISTC

In a code language, 'INDIGENCE' is coded as 'DNIEGIECN'. How can 'INDIRECTS' be coded
in that language?

A) DNIERISTC B) DNIESIRTC
C) DNIIRESTC D) DNREIISTC
Answer Key : A Your Response : A (Correct)

Question No. 96




1982 # TIAATS Well & AE=T fopd M8y o HI?
A) Uools B) rerehdT
C) #=8 D) &% Rl

Which city hosted the Asian Games in 19827

A) Chennai B) Kolkata
C) Mumbai D) New Delhi
Answer Key : D Your Response : Not Answered

Question No. 97

FAT B1dT & 9 Ush U@odoll A Uh Fad fdordeT 3R e &g o & f&emar srar g2

(i) eI &7 dTIATT d¢ ST gl

(ii) faeraeT &1 AIAT A & ST gl

(iii) faerasT T a9 GHA @ &l

(iv) &auT 1 HATOT gIaT 8l
A) (i) 3R (iv) B) &ae (i)
C) (i) 3 (iv) D) (iii) 3R (iv)

What happens when a solution of an acid is mixed with a solution of a base in a test tube?

(i) The temperature of the solution increases.

(ii) The temperature of the solution decreases.

(iii) The temperature of the solution remains the same.

(iv) Salt formation takes place.



A) (i) and (iv) B) Only (i)
C) (i) and (iv) D) (iii) and (iv)

Answer Key : A Your Response : A (Correct)

Question No. 98

?mﬁmﬁﬁﬁmaﬁﬁﬂﬁﬁmmmﬁmﬁwm
arl

Choose from the alternatives the figure that best completes the
pattern given below.




B)

Answer Key : C Your Response : C (Correct)

Question No. 99

21 QAT B AR 90 JAY oieTS aTell Uk o & UISY & dAled Ish-YSo HT &athel Al HIfaT]
A) 11880 T F=T B) 12880 TsT =Y
C) 11480 a1 §#Y D) 10880 @31 &=#r

A metal pipe of radius 21 cm and length 90 cm has an outer curved surface area:

A) 11880 cm? B) 12880 cm?
C) 11480 cm? D) 10880 cm?
Answer Key : A Your Response : Not Answered

Question No. 100

msra#rx.MDﬁéaﬁqT,waaTcrr&a?rm%ﬁmﬁg‘élaﬁaggrﬁrﬁwaﬂé?S%aﬂﬂT
qTECT &, a 38H faHT Aed frder giem arfge?

A) %570 B) %.600

C) %.1080 D) %.550

By selling goods at Rs.540, a trader incurred 10% loss. If he wants to minimise the loss to 5%,
what should be his selling price?

A) Rs.570 B) Rs.600

C) Rs.1080 D) Rs.550



